[ Efficiency vs vertpos |

0.05

0.045F
0.04F
0.035F

0.03F---
0.025F---
0.02f---
0.015F---
0.01---

0.005

Ja)

...........................

...........................

VS

[y

0.95

i
v
e
-
i
L
a
i
+
e
b
¥

Efficiend

0.1

1072 107 1

10 10?

—=— DQM_TT__mkFit-DQM_original
—— DQM_TT__mkFit-DQM_modified4

0.09F
0.08F
0.07F
0.06F
0.05F
0.04F
0.03F
0.02
0.01

Vel

...........

...........

...........

[y
T

.
R e
> <
+

0.95!

[ Efficiency vs. sim PV z |

0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005

0

FRVS)

iy

| o R R

T

=10

10 15 20




	Contents
	Page 1


